REGULATIONS AND SCHEDULE OF INTRASTATE CHARGES GOVERNING THE PROVISION OF ONE-WAY AND/OR TWO-WAY TRANSMISSION SERVICES FOR CONNECTION TO PUBLIC AND PRIVATE

COMMUNICATIONS FACILITIES WITHIN

THE STATE OF MISSOURI

This Tariff applies to the provision of one-way and/or two-way transmission services furnished by Zayo Group, LLC ("Zayo" or the "Company") between one or more points in the State of Missouri. Zayo Group, LLC does not provide basic local telecommunications service and does not provide switched access service; rather, Zayo Group, LLC provides only private line service in Missouri. This Tariff, filed with the Missouri Public Service Commission (the "Commission"), does not contain any detail of service or descriptions of private line services offered by Zayo Group, LLC. This Tariff is on file with the Missouri Public Service Commission, and copies may be inspected, during normal business hours, at the Company's principal place of business, 400 Centennial Parkway, Suite 200, Louisville, CO 80027.

Zayo Group, LLC operates as a competitive telecommunications company within the State of Missouri.

Issued: March 16, 2011

Issued By:

Peter Chevalier, Associate General Counsel 400 Centennial Parkway, Suite 200 Louisville, CO 80027

Filed Missouri Public Service Commission LA-2011-0259; YL-2011-0468

Effective: April 30, 2011

A/73639765.5

WAIVERS

Zayo Group, LLC, is classified as a competitive telecommunications company in Missouri for which the following statutory and regulatory requirements are waived pursuant to Section 392.420 RSMO:

Statutes

392.210.2		uniform system of accounts
392.240(1)		just and reasonable rates
392.270		valuation of property (rate making)
392.280		depreciation accounts
392.290		issuance of securities
392.300		Acquisition of stock
392.310		stock and debt issuance
392.320		stock dividend payment
392.330		issuance of securities, debts and notes
392.340		reorganization(s)
	<u>Cor</u>	nmission Rules
4 CSR 240-3.550(4)		held orders
4 CSR 240-3.550(5)(A)		quarterly service
4 CSR 240-10.020		depreciation fund income
4 CSR 240-30.040		uniform system of accounts
4 CSR 240-32.060		engineering and maintenance
4 CSR 240-32.070		quality of service
4 CSR 240-32.080		service objectives and surveillance levels
4 CSR 240-33.040(1)		billing and payment standards
through $(3) \& (5)$ through		
(10)		
4 CSR 240-33.045		PSC requirement for clear identification
		and placement of separately identified
		charges on customer bills
4 CSR 240-33.080(1)		disputes by residential customers
4 CSR 240-33.130(1)(4)		operator service rules
and (5)		·
x - /		

Issued: March 16, 2011

Effective: April 30, 2011

Issued By:

By: Peter Chevalier, Associate General Counsel 400 Centennial Parkway, Suite 200 Louisville, CO 80027

Filed Missouri Public Service Commission LA-2011-0259; YL-2011-0468

DEFINITIONS

Carrier or Company or Zayo

Zayo Group, LLC, the issuer of this Tariff.

Customer

The person, firm or corporation which orders service and is responsible for the payment of charges and compliance with the Company's regulations.

ICB or Individual Case Basis

A service arrangement in which the regulation, rates and charges are developed based on the specific circumstances of the case.

Private Line

A non-switched point-to-point telephone line for the private use of one party offered pursuant to 392.200.8(1) RSMo Cum. Supp. 2010.

Issued: March 16, 2011

Issued By:

Peter Chevalier, Associate General Counsel 400 Centennial Parkway, Suite 200 Louisville, CO 80027

Filed Missouri Public Service Commission LA-2011-0259; YL-2011-0468

Effective: April 30, 2011

APPLICATION OF TARIFF

This Tariff applies to intrastate private line service supplied to Customers.

This Tariff applies only to the extent that services provided hereunder are used by a Customer for the purpose of originating or terminating intrastate communications. A communication is "intrastate" only if all points of origination and termination are located within the State of Missouri.

Issued: March 16, 2011

Issued By:

Peter Chevalier, Associate General Counsel 400 Centennial Parkway, Suite 200 Louisville, CO 80027

Filed Missouri Public Service Commission LA-2011-0259; YL-2011-0468

Effective: April 30, 2011

COMPANY SERVICES

1. Private Line Services

Zayo only provides private line services in Missouri. Zayo does not provide switched services. Facilities used in the provision of Zayo's services are constructed to meet specifications negotiated by the Company and the Customer on an Individual Case Basis. All charges are offered to Customers in writing and on a nondiscriminatory basis. Service is provided pursuant to contracts negotiated with the Customer. Service descriptions and rates are included in contracts along with terms and conditions of service, payment requirements, and limitations of liability. Zayo concurs in the telephone exchange boundary maps of Missouri incumbent local exchange carriers. Copies of Zayo's service contracts will be made available to the staff of the Missouri Public Service Commission as requested on a proprietary basis.

Issued: March 16, 2011

Issued By:

Peter Chevalier, Associate General Counsel 400 Centennial Parkway, Suite 200 Louisville, CO 80027

Filed Missouri Public Service Commission LA-2011-0259; YL-2011-0468

Effective: April 30, 2011